

NAME: OYEBAJJI DREOLUWA OLUWATOBI

16/MHS01/219

COMPUTER ENGINEERING

$$1a) \lim_{x \rightarrow \pi/2} \left[ \frac{(x^2 - \pi/4) \sin(\cos x)}{x - \pi/2} \right]$$

Soln - Numerator

$$\text{Let } u = x^2 - \pi/4 \quad ; \quad \frac{du}{dx} = 2x$$

$$v = \sin(\cos x) \quad \frac{dv}{dx} = -\sin x \cos(\cos x)$$

Also let

$$a = \cos x \quad ; \quad \frac{da}{dx} = -\sin x$$

$$y = \sin a \quad ; \quad \frac{dy}{da} = \cos a$$

$$\frac{dy}{dx} = \frac{dy}{da} \times \frac{da}{dx}$$

$$\frac{dy}{dx} = \cos a \times (-\sin x)$$

$$\frac{dy}{dx} = -\sin x \cos a = -\sin x \cos(\cos x)$$

$$\frac{dy}{dx} = u \frac{du}{dx} + v \frac{dv}{dx}$$

$$\frac{dy}{dx} = (x^2 - \pi/4) (-\sin x \cos(\cos x)) + \sin(\cos x) (2x)$$

$$\frac{dy}{dx} = (x^2 - \pi/4) (-\cos(\cos x) \sin x) + \sin(\cos x) (2x)$$

Denominator

$$\text{Let } m = x - \pi/2 \quad \frac{dm}{dx} = 1$$

$$\lim_{x \rightarrow \pi/2} \left[ \frac{(x^2 - \pi/4) \sin(\cos x)}{x - \pi/2} \right]$$

$$\lim_{x \rightarrow \pi/2} \left[ \frac{(x^2 - \pi/4) - \cos(\cos x) \sin x + \sin(\cos x) (2x)}{1} \right]$$

$$= \frac{(\pi/2)^2 - \pi/4 - \cos(\cos \pi/2) \sin(\pi/2) + \sin(\cos \pi/2) (2(\pi/2))}{1}$$

$$= \frac{(\pi^2/4 - \pi/4) (-1) + 0}{1} = \frac{-\pi^2}{4} + \frac{\pi}{4}$$

$$= \frac{-\pi^2 + \pi}{4}$$

$$\therefore \lim_{x \rightarrow \pi/2} \left[ \frac{(x^2 - \pi/4) \sin(\cos x)}{x - \pi/2} \right] \text{ is } \frac{-\pi^2 + \pi}{4}$$

11.)  $\lim_{x \rightarrow \pi/2} \ln \left( \frac{\exp(3x^2 + 2x - 1)}{x + 1} \right)$

Soln

$\lim_{x \rightarrow \pi/2} \ln \left( \frac{\exp(3x^2 + 2x - 1)}{x + 1} \right)$   
 $= \ln \left( \frac{\exp(3(\pi/2)^2 + 2(\pi/2) - 1)}{\pi/2 + 1} \right)$

$= \ln \left( \frac{\exp(3\pi^2/4 + \pi - 1)}{\pi/2 + 1} \right)$

$= \frac{3\pi^2 + \pi - 1}{4} \div \frac{\pi + 2}{2}$

$= \frac{3\pi^2 + \pi - 4}{4} \div \frac{\pi + 2}{2}$

$= \frac{3\pi^2 + \pi - 4}{4} \times \frac{2}{\pi + 2} = \frac{3\pi^2 + 4\pi - 4}{2(\pi + 2)}$

$= \frac{(3\pi - 2)(\pi + 2)}{2(\pi + 2)} = \frac{3\pi - 2}{2}$

$\lim_{x \rightarrow \pi/2} \ln \left( \frac{\exp(3x^2 + 2x - 1)}{x + 1} \right) = \frac{3\pi - 2}{2}$



1/16 D'EBANDI CAECUNDA

1/16 K/11/11/2019

a) COMPUTER ENGINEERING

$$10) \lim_{x \rightarrow 2+\sqrt{3}} \cos \left[ \frac{\sin^{-1}(x-2)}{(x-\sqrt{3})} \right]$$

Soln

$$\begin{aligned} \lim_{x \rightarrow 2+\sqrt{3}} \cos \left[ \frac{\sin^{-1}(x-2)}{(x-\sqrt{3})} \right] \\ &= \cos \left[ \frac{\sin^{-1}(2+\sqrt{3}-2)}{(2+\sqrt{3}-\sqrt{3})} \right] \\ &= \cos \left[ \frac{\sin^{-1} \sqrt{3}}{2} \right] \\ &= \cos 60 \\ &= \frac{1}{2} \end{aligned}$$

$$d) \lim_{x \rightarrow 4} \left( \frac{x^2 - 9x + 16}{x^2 - 5x + 4} \right)$$

Soln

$$\begin{aligned} \lim_{x \rightarrow 4} \left( \frac{2x-9}{2x-5} \right) \\ &= \frac{2(4)-9}{2(4)-5} = \frac{0}{3} = 0 \end{aligned}$$

$$\lim_{x \rightarrow 4} \left( \frac{x^2 - 9x + 16}{x^2 - 5x + 4} \right) = 0$$

$$2a) \frac{2}{2 \times 3} + \frac{2}{3 \times 4} + \frac{2}{4 \times 5} + \frac{2}{5 \times 6} + \dots$$

$$u_n = \frac{2}{(n+1)(n+2)}$$

$$u_{n+1} = \frac{2}{(n+2)(n+3)}$$

$$u_{n+1} = \frac{2}{(n+2)(n+3)}$$

$$\begin{aligned} \frac{u_{n+1}}{u_n} &= \frac{2}{(n+2)(n+3)} \div \frac{2}{(n+1)(n+2)} \\ &= \frac{2}{(n+2)(n+3)} \times \frac{(n+1)(n+2)}{2} \\ &= \end{aligned}$$

$$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = \frac{n+1}{n+3} = \frac{n/n + 1/n}{n/n + 3/n} = \frac{1+0}{1+0} = 1$$

It is inconclusive testing further

$$u_n = \frac{2}{(n+1)(n+2)}$$

$$\lim_{n \rightarrow \infty} u_n = \frac{2/n}{(n/n + 1/n)(n/n + 2/n)}$$

$$= \frac{0}{(1+0)(1+0)}$$

$$= \frac{0}{1 \times 1} = 0$$

If  $\lim_{n \rightarrow \infty} u_n = 0$   $\sum$  is convergent



$$2b) \frac{2}{1^2} + \frac{2}{2^2} + \frac{2}{3^2} + \frac{2}{4^2} + \dots$$

$$u_n = \frac{2}{n^2}$$

$$u_{n+1} = \frac{2}{(n+1)^2}$$

$$\frac{u_{n+1}}{u_n} = \frac{2}{(n+1)^2} \div \frac{2}{n^2}$$

$$= \frac{2}{(n+1)^2} \times \frac{n^2}{2}$$

$$= \frac{n}{(n+1)^2}$$

$$= \frac{n^2}{(n+1)^2}$$

$$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = \frac{n^2 + 2n + 1}{n^2 + 2n + 1} = \frac{n^2/n^2}{n^2/n^2 + 2n/n + 1/n}$$

$$= \frac{1}{1 + 0 + 0}$$

$$= 1$$

$$= 1$$

Inconclusive  $\rightarrow$  Test further.

$$u_n = \frac{2}{n^2}$$

$$\lim_{n \rightarrow \infty} u_n = \frac{2/n^2}{n^2/n^2}$$

$$= \frac{0}{1}$$

$$= 0$$

$$= 0$$

The series is convergent

2c

$$U_n = \frac{1+2n^2}{1+n^2}$$

$$U_n = \frac{1}{n^2} + \frac{2n^2}{n^2}$$

$$\frac{1}{n^2} + \frac{2n^2}{n^2}$$

$$= \frac{1}{n^2} + 2$$

$$\frac{1+2n^2}{n^2}$$

as  $n \rightarrow \infty$ ,  $\frac{1}{n^2} = 0$

$$U_n = \frac{0+2}{0+1}$$

$$U_n = 2$$

$\therefore$  The series is divergent since  $U_n \neq 0$



OYEBANJI ORFOLUWA  
 16/MHS01/219  
 COMPUTER ENGINEERING

$$3) \frac{x}{27} + \frac{x^2}{125} + \dots + \frac{x^n}{(2n+1)^3}$$

$$U_n = \frac{x^n}{(2n+1)^3}$$

$$U_{n+1} = \frac{x^{n+1}}{(2n+1)^3 + 1}$$

$$U_{n+1} = \frac{x^{n+1}}{(2n+1)^3 + 1}$$

$$U_{n+1} = \frac{x^{n+1}}{(2(n+2)+1)}$$

$$U_{n+1} = \frac{x^{n+1}}{(2n+3)^3}$$

$$U_{n+1} = \frac{x^{n+1}}{8n^3 + 36n^2 + 54n + 27} \div \frac{x^n}{(2n+1)^3}$$

$$= \frac{x^{n+1}}{8n^3 + 36n^2 + 54n + 27} \times \frac{(2n+1)^3}{x^n}$$

$$= \frac{x^n \cdot x^1}{8n^3 + 36n^2 + 54n + 27} \times \frac{8n^3 + 12n^2 + 6n + 1}{(2n+1)^3} = x \times \frac{8n^3 + 12n^2 + 6n + 1}{8n^3 + 36n^2 + 54n + 27}$$

$$= x \left[ \frac{8n^3 + 12n^2 + 6n + 1}{8n^3 + 36n^2 + 54n + 27} \right] = x \lim_{n \rightarrow \infty} \left[ \frac{8 + \frac{12}{n} + \frac{6}{n^2}}{8 + 3\frac{6}{n} + \frac{54}{n^2} + \frac{27}{n^3}} \right]$$

$$= x \left[ \frac{8 + 0 + 0}{8 + 0 + 0 + 0} \right]$$

$$\frac{U_{n+1}}{U_n} = x$$

$$U_n$$

$$= -1 \leq x < 1 \text{ (It converges)}$$

DYEBANJI OREOWWA

16/11/2019

$$4) \lim_{x \rightarrow 0} \left[ \frac{\sin x - \cos x}{x^3} \right]$$

$$= \frac{\sin 0 - \cos 0}{0^3}$$

$$= \frac{0 - 1}{0} = 0 \text{ (undefined)}$$

$$\lim_{x \rightarrow 0} \left[ \frac{\cos x + \sin x}{3x^2} \right]$$

$$\lim_{x \rightarrow 0} = \frac{1 + 0}{0} = \text{undefined}$$

$$\lim_{x \rightarrow 0} \left[ \frac{-\sin x + \cos x}{6x} \right]$$

$$= \frac{0 + 1}{0} \text{ (undefined)}$$

$$\lim_{x \rightarrow 0} \left[ \frac{-\cos x - \sin x}{6} \right]$$

$$= \frac{-1 - 0}{6} = \frac{-1}{6}$$